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Participating clubs

Club Code Athletes Indiv. Relays
M W M W M W

22.APRIL Banja Luka (BiH) 22ABL BIH 4 + 2 = 6 16 + 8 = 24 -
BOSNA PK Sarajevo ( BiH) BOSA BIH 2 + 5 = 7 9 + 14 = 23 -
BUDVA-BUDVANSKA Rivijera (MNE) BUD MNE 4 + 4 = 8 13 + 14 = 27 -
FRANFURKT SG (GER) FRA GER 1 = 1 4 = 4 -
GKVS SARAJEVO ( BiH ) GKVSSA BIH 5 + 6 = 11 20 + 24 = 44 -
GRDELIN GS CRO 5 + 12 = 17 16 + 47 = 63 -
GYORI USZO SE (HUN) GYO HUN 1 + 1 = 2 4 + 4 = 8 -
JUG JD CRO 46 + 17 = 63 125 + 51 = 176 -
JADRAN Herceg Novi (MNE) JHN MNE 5 + 7 = 12 19 + 29 = 48 -
A JOVO SC ( HUN) JOV HUN 1 = 1 5 = 5 -
JADRAN JS CRO 6 = 6 22 = 22 -
JADERA JZ CRO 3 + 1 = 4 12 + 4 = 16 -
KOSOVO Swimming Fed.( KOS) KOS KOS 6 + 7 = 13 16 + 23 = 39 -
KPK KORÈULA KPK CRO 1 + 4 = 5 5 + 18 = 23 -
KVS LEOTAR Trebinje ( BiH ) KVSLETB BIH 5 + 1 = 6 13 + 2 = 15 -
MEDVEŠÈAK MDZ CRO 1 = 1 2 = 2 -
MAKSIMIR MKZ CRO 1 + 2 = 3 4 + 5 = 9 -
CRNA GORA (MNE) MNE MNE 3 + 6 = 9 12 + 25 = 37 -
MLADOST MZ CRO 4 + 4 = 8 12 + 15 = 27 -
MEÐIMURJE MÈ CRO 3 + 3 = 6 15 + 15 = 30 -
NOVI BEOGRAD 011 (SRB) NBG SRB 3 + 3 = 6 9 + 6 = 15 -
OTRILA K.S.U. ( KOS ) OTR KOS 1 + 1 = 2 4 + 5 = 9 -
OLIMP-ZABOK OZ CRO 5 + 4 = 9 20 + 15 = 35 -
KANTRIDA PKK CRO 11 + 10 = 21 36 + 35 = 71 -
PRISHTINA SC ( KOS ) PRI KOS 1 + 2 = 3 3 + 9 = 12 -
PRIMORAC VPK Kotor (MNE) PRI MNE 7 = 7 32 = 32 -
POŠK PS CRO 3 + 9 = 12 12 + 35 = 47 -
SHARKS PK Sarajevo ( BiH ) SHSA BIH 1 + 1 = 2 6 + 3 = 9 -
SPITTAL SV  ( AUT) SPI AUT 1 + 1 = 2 3 + 3 = 6 -
SPORT TIME Sarajevo (BiH) STSA BIH 5 + 6 = 11 19 + 24 = 43 -
TIRANA KS ( ALB) TIR ALB 1 = 1 2 = 2 -
UKRAINE ( UKR ) UKR UKR 1 = 1 6 = 6 -
VELEŽ Mostar ( BiH) VEMO BIH 4 + 2 = 6 15 + 6 = 21 -
VINKOVAÈKI PK VPK CRO 2 = 2 12 = 12 -
VUKOVAR VVU CRO 3 = 3 12 = 12 -
ZRINJSKI Mostar ( BiH) ZRMO BIH 3 = 3 14 = 14 -
ZADAR ZZ CRO 6 + 15 = 21 24 + 58 = 82 -
ŠIBENIK ŠŠ CRO 5 = 5 21 = 21 -

Total 38 clubs 160 + 146 = 306 553 + 538 = 1091 -


